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ECO-2 : ACCOUNTANCY-I
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Note : Attempt any four questions, including question no. 1

which is compulsory.

Answer any two questions from the following :

1. (a)

(b)

(©)

(d)

(b)

ECO-2

Briefly explain the accounting concepts
which guide the accountant at the recording
stage.

What is Trial Balance ? Explain how it is -

prepared ?

State various causes of disagreement
between the balances shown by the Cash
Book and Pass Book.

What is consignment ? How does it dlffer
from a sale ?

What are the adjustment Accounts
prepared under Self-balancing system ?

Give journal entries necessary for self

balancing the General Ledger.

What is meant by Incomplete Records ?
What are their limitations ?

7+7

6+6
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3. From the following Trial Balance of R stores
prepare Trading and Profit and Loss Account for
the year ended December 31, 2008 and the
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Balance Sheet as on that date.

‘Trial Balance
Account Debit Credit
Balance Balance

Capital — 60,000
Drawing 5,000 —
Purchases 1,00,000 —
Sales — 2,160,000
Opening stock 20,000 —
Wages 15,000 —
Wages outstanding — 5,000
Carriage Inwards 2,000 —
Salaries 13,000 —
Insurance 1,500 —
Insurance prepaid 1,500 —
Income from Investments — 30,000
Accrued Income from
Investment 10,000 o
Machinery 50,000 —
Building 95,000 —
Cash in hand 2,000 —
Debtors 35,000 —
Creditors — 60,000
Depreciation on Buildings 5,000 —
Rent 10,000 —

3,65,000| = 3,65,000

Additional Information :
The value of stock on December 31, 2009 was
Rs. 40,000.
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Anu & Co. Jaipur consigned goods valued at g44

Rs. 1,25,000 to Veer Enterprises, Delhi. Anu paid
Rs. 1,800 towards freight, Insurance and carriage
Veer received the consignment and accepted a bill
for Rs. 50,000. He paid Rs. 1,500 for freight 2,200
for carriage and godown rent and Rs. 2,500 as
salesman’s salaries. The consignee is allowed to
take 7% commission on the total sales. Consignee
sold all the goods for Rs. 1,68,000 and sent the

Account sales and enclosed a bank draft for the .

balance.
Journalise the above transaction in the books of
the consignor. Also prepare the Consignment
Account.

(@) Enumerate the methods of calculating 844

depreciation. Discuss the advantage and

disadvantages of fixed installment method.
(by Distinguish between Specific Reserve and

General Reserve. :

A drew on B a bill for Rs. 1,000 on January
1,2009 for four months for mutual
accommodation. After receiving B’s acceptance
the same day, A discounted it with the bank @
6% p.a. and remitted half the proceeds to B. On
February 1, 2009. B drew a bill on A for Rs. 1,500
for three months and after obtaining A’s
acceptance, he discounted it @ 8% p.a. and
remitted one third of the proceeds to A. On April
30, 2009 B became insolvent and only 50% was
received from his estate. Prepare Journal entries
in A’s books and give A’s A/c in B’s Books, and
B’s A/c in A’s Books.
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EXl ' 1,00,000 —
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HIgl 15,000 —
TS AT — 5,000
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4. 3T T FIE AP A IR We A Kol Bl 8+4

£1,25,000 %. % HIeT 1 Y91 AT A9 F 1,800 TG
S Gt WIS F gEE | A Y T i fRr e
50,000 . 1 faret TR a1 St 1,500 Y& el
T 2,200 %. 3Eh WIS qAT MW FHURT 2,500 %,
[T A A Went ) e faset W 7% Heiem
fean s €)1 At % g AT 1,68,000 % 99 R
e forshar foremer v 9w et o6t % s 9w R
T i TEah! ¥ e fafedi w3 qen 9o @
ERiE
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- ao fer T fafu ¥ oy v 3w @ avl
U

(b) Tafte d=a qen 9= Wem § R s
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